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1. Fresh sewage is in nature

a) Alkaline b) Neutral

c) Acidic d) None of the above
DRRETYTS 025 RITRSCI0 Sljlovcing

a) T0e0d b) 3&3@;

C) &B0L0w | d) BoedT adRTe e

2. The biological decomposition of organic wastes under controlled conditions is
known as

a) Composting

b) Sanitary landfills

c) Incineration

d) None of the above

QOD0GE ASCHY 2 DT THNE DT DPRSODR), DF0T0 FBORNRBE ?
a) Q0Zrews

b) F=ore), Seegss

C) %PRe80eD

d) BedT oSRPTe @

3. Chernobyl nuclear disaster occurred in the year

| a) 1985 b) 1987
| c) 1986 - d) 1988
| iRRer 0e* HORRE0 R308 IR BRFEY AW 7
a) 1985 b) 1987
c) 1986 . d) 1988
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4. Enrichment of nutrients in a water body leads to
a) Eutrophication
b) Biotransformation
¢) Biomagnification
d) None of the above
ReOR STONTOS FpeRFOBNY R)eursoeosy) CINP)TE, O BRRBRRZT
a) NEOEB PRI
b) %8 drwmoced
C) BT IFS
d) SO NPT B,

5. The maximum permissible limit of nitrates in drinking water is

a) 45 mg/l b) 79 mg/l
c) 100 mg/l d) 250 mg/l
BRI DO, F 8 63" MO 08 Q08 ), ?

a) 45 mg/l b) 79 mg/l
c) 100 mg/l d) 250 mg/l

6. Environment Protection Act was enacted in the year

a) 1974 b) 1998
c) 1986 d) 1982
RS g TRCNTCIRY, AR Bar B, 20T 35w 2
a) 1974 b) 1998
c) 1986 ' d) 1982
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7. pH value of potable water is .

a) 3ands b) 10.5and 12.6
c) 6.5and 8.8 d) 1.5and2.0
Tpeedeerer Qeds pH WD DABIZE 9

a) 3 =5 b) 10.552) 12.6
c) 6.5 32 8.8 d) 1.5 3832.0

8. The chemical name for alum is
a) Aluminium chloride
b) Silver nitrate
¢) Aluminium sulphate
d) Copper sulphate
90" S DoA0E =25
a) LRI SR
b) 20 o° Fedess
C) LeRDo Fesees
d) 5o RS

9. Consumptive, productive, social aesthetic and option values refer to
a) Tropic structure
b) Ecosystem stability
c) Biodiversity
d) Dynamic equilibrium
eI0edeer, VBT, TRIE w:cdpé =02) VLYY facfsi RURUSRISS
a) YURBOIT 0233 '
b) ®oz3 a’%d:"%)cdo P33
c) ﬁe&)e%&z;g‘s
d) 2¥odo :—.3533%&
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10. Due to incomplete combustion of fuels from petrol engines, the gas liberated is

11

a) Carbon dioxide

b) Carbon monoxide

c) Nitrogen dioxide

d) Sulphur dioxide

BeiR e QOB TIOOT BOGSNT ROTREF TRIDOTN CIRT SO BDENBOINRNRIBT ?
a) [oMwYs & &8, @

b) BwFs RS F°

C) AITHRITA B, 8,

Q) Rop° 98,

Some toxic compounds are ingested and retained in the tissues. These pollutants
pose special risks to humans and other organisms high on the food chain because _
of which process ?

a) Synergism

b) Compdund contamination

c) Biomagnification

d) Carcinogenesis

Fom) QRO FOCIBFNIIY, @omo@fﬁ@@mﬁeﬁﬁmmg s B w%i@%mr{;g 3. 8
aﬂn@%&dﬁﬁ% m&ags 03 033 BeaneR $Ho0 ACBPOD & éa&ﬁ SSevernaien
RREBT. B3 B30300300, DI0TD %Iz:'s’odammgzs 9

a) ADVERO

b) R00308 BRI,

c) %&35 RS

d) FoF IR
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12. The disease caused by drinking contamination

a) Scurvy b) Typhoid
c) Malaria d) Anemia
eeb% QeOR REBFOWOTII0EIMO 2003

a) AOF b) &3zmas®
c) Soe3edo3m d) Sg&es3

13. Sewage sickness is a form of

a) Water pollution b) Air pollution
c) Land pollution d) Light pollution
23008 BPwED [TE, FoWORATI

a) o IS b) @030 IROF,
c) 3o SRdg d) B BRAF,

14. Sodium is usually estimated by which of the following analytical technique ?
a) Flame Photometry

b) Coulometry
c) High pressure liquid
d) Chromatography

ARERCD0 WBRFTN FINS 030 DBERFEIIT DTOIROT OTDWRESONIZES ?
a) 25,503 Fpesinestony

C) 0% LIBT T

d) Searmz
==
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15.

16.

§ Vi

Poorly nourished lakes are known as

a) Oligotrophic

b) Eutrophic

c) Mesotrophic

d) Xerographic

35353 TR0 BB EVONIR, D00 FCOTINBE ?
a) RRFTPERT BTN BRTO00TOR

b) o300edR ess®

C) QORRCEIR QT

d) ¥deer@s

Highest level of biotic interaction is

a) Mutualism 'b) Predation

c) Parasitism d) Amensalism
BT BRWEIT WD VRO 303000, PO BEODINZT ?

a) WORCE, b) Swoteeeess
C) RTHROOW d) eBds9%0

Group of individuals of the same species that share common attributes is called

a) Community b) Population

c) Ecotype -' d) Society

RO, MOV LINTTY HORSBRYY R 2.0T3e 203 RN 0B DI oz3d BBCDTNET ?
a) IR b) %303,

c) oBpeedm® ' : d) A%
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18. Acid rain is caused by

a) COand CO, b) SO, and O,
c) SO, and NO, d) NO,and O,
STFTF IR TOOT ¢V0ERRBTS 9

a) CO &2, CO, b) SO, &30,
c) SO, =52 NO, d) NO, &=, 0,

19. Marine pollution of the ocean is due to
a) Oil spills
b) Washing of cargo ships
c) Dispbsal of hazardous waste
d) Allthe above
oo HOTROZ D)
a) 2% BORDFOWT
b) res BERING SrBe3n0dc0s
C) TOTOTT e%zzgsh’@ﬁdi ROV TO0T
d) S0ed8 2w

20. The chemical that is used to ripen mangoes is

a) Calcium sulphide b) Calcium carbide
c¢) Calcium carbonate | d) Calcium chloride
DRI Ssagaﬁﬁdgt amwﬂﬁw WTRSDTVB TORDORIB IR ?

a) 9o xS 3, \ b) 53900 5o e
C) 5,900 Foedper e d) 5,900 CIoefecy
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21.

22.

23.

24,

Biotic environment includes

a) Producers ' b) Consumers
c) Decomposers d) Alithe above
a%&)ﬁ TOXT odra@daigtm#ﬁraoad ?

a) YuBEESd b) rexsd

C) IR d) Boed 2P
Chicken gunya is transmitted by

a) Culex b) Aedes

c) Anopheles d) Housefly
355 rbo"%" 3090208 03P TIOOT HOREIZTS ?

a) 8yUE b) 8%

C) =D d) 3nrn

In our country, Vana Mahotsav Day is observed on

a) Second of October b) First of December
¢) Tenth of August d) First of July
S BeBTE TIROB RS amz&dﬁcbdgt ROT E230R0TYT ?
a) NORESe BReIT” b) %womSe &owo®
C) BBSe ©na’ d) eomse 2,
Which one of the following is not a primary contributor to the green house effect ?
a) Carbon dioxide b) Carbon monoxide |
~ ¢) Chlorofluorocarbons " ~d) Nitrous oxide

83 FINSIHNLE 03T BT &0 TOFTRE, T PRT RN DB, ?
a) QOPOT g &8, & b) mwWFR* Beces =
C) BRBRETRBACTUFS -« d) iz =g &=
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25.

26.

27

28.

Medicine of quinine is provided by

a) Eucalyptus plant b) Aconite plant

c¢) Cinchona plant d) Money plant
33 %Bﬁzﬁdaig{ O3RPTOOT BEOITMIBT ?

a) JeoNd b) eBpegEs wots
C) A0BRET TYOL® d) 3R T

71% of earth surface is covered with

a) Land | b) Air

c) Water d) Coal
23RN0 &dedd 030 713R), LN OIRTWOOR ZRBTBE ?
a) PR b) ™%
c) Qed d) 5@@)@

Which combination of the following elements constitutes a major portion of earth
crust ?

a) Oxygen and Silicon b) Oxygen and Iron

c) Silicon and Iron d) Aluminium and Iron
FINT 03N 2035y LRI Fo03REWSOR BRTHHOL 20830 303D LINNES ?
a) SRR BB AT b) &0 0382 ﬁz:gjsa

C) AT 0B LD d) ©aRReR0 B T
The least preferred technique in the disposal of municipal solid waste is
a) Incineration : b) Composting

¢) Landfilling 3 d) Bricketting

RDTRLIOD PB TYHE DSe000309 B ST3303 AT

a) PResoee b) ebogrirazgjd

C) LR I&F ©d) wdeson®
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29. Minamata episode was caused by which heavy metal 2
a) Calcium b) Mercury
c) Lead d) Arsenic
QOB FHIFOT0 B3 DREITT ROV TOFFDR)
a) 3900 b) @03
C) Aex d) &R

30. The First Environmental Law in India was enacted in
a) 1947 b) 1950
c) 1972 d) 1982
0BT BRTO TORT Fad:aao"d.gt O30 DRF VO BTLHOND ?
a) 1947 b) 1950
c) 1972 d) 1982

31. Adevice fitted to the exhaust system petrol driven motor vehicle to reduce emissions
of pollutants is called as
a) Conversion System b) Conversion Kit
c) Catalytic Converter d) Catalytic Box
a’me‘)é TITBNY BRTIRRODTOIRD IR STRBELL 5D TR AR TFedR e 1398 Bretnd
B SIBAT ROTIB) D00 DR 2

a) Zomers 33 b) Bowsersmas

C) JNBPFB TODSE3 d) Senzpes T

32. The maximum permissible level of BOD (mg/l) in waste water that is let into river is
a) 20 b) 30
c) 40 ; d) 10
SN VBRI 39,25, 2e0IYTOE BOD (mg/l)od r{t)'-"% LIRS do%
a) 20 b) 30
c) 40 = w2l
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33.

34.

- 36.

Which one of the following sequence represents increasing order of toxicity of metals ?

a) Ca, Zn, Cd, Mn b) Ca, Mn, Zn, Cd

c) Zn, Mn, Cd, Ca : d) Mn, Cd, Zn,Ca

83 FINIYNTE) cdw Beedod0 SeeHne Joai%as’aigl V0TIV wz’gr{%*aigl 008 FROTE.
RRWRIZT 9

a) Ca, Zn, Cd, Mn b) Ca, Mn, Zn, Cd

c) Zn, Mn, Cd, Ca d) Mn, Cd, Zn, Ca

The term environment refers to

a) Total set of circumstances b) Hydrosphere

c) Atmosphere d) Biosphere

TORT 0% 30D

a) i), ANHe3 : b) morred

C) @9Zox0e? d) Reznieed

Climate change issue is due to increase of gas in the atmosphere.
a) Oxygen b) Ozone c) CO d) CO,

DDORNS WERTE AR 030 WOTIFOLATIE) 0TI LT Szgd#aod QVOETNZT 9

a) eRxTE b) &dyeex®

C) SRFT FeJE & d) swra® & o3 &

Biomass energy refers to

a) Renewable

b) Non renewable

c) Renewable and alternative

d) Renewable, alternative and ecofriendly

WodReRRT® DI RRWRZS 9

a) SRCBORWIBITIT

b) SQezoReRNT

C) SNEBORUBITT 202 TORRE O

d) SDeBORWBITIE, B3RO =083 TORT Redo

SPACE FOR ROUGH WORK
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37. Sacred grooves are of
a) Agriculturalimportance
b) Religious importance
¢) Economic importance
d) Industrial importance
B, 068 DT, BT ?
a) & TW[0N3
b) To&0FE TFNNI
C) SRFF DBONZ
d) §roos TENN3

38. Fluoride is harmful at concentration exceeding

a) 0.9 b) 1.5 c) 0.5
QeOTRINS FOTBOD LEY, FRET T T G Rl0)
a) 0.9 b) 1.5 c) 05

39. Algal blooms appear in water due to
a) High pesticides
b) Nutrient enrichment
c) More silt
d) Industrial effluent
RO, TWICI BRI STV TTED
a) 2 $eL3TOTTNED J
b) TPag a@’e?%eﬁdea
c) ézstﬁ o
d) 3rwos QDRRED

N AN

mg/l in water.
d) 0.4

d) 0.4

SPACE FOR ROUGH WORK
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GMOs are

a) Genetically Modified Organisms
b) Genetically Mediated Organisms
¢) Genetic Model Organisms

d) Genetically Model Organisms
GMOs omd

a) Genetically Modified Organisms
b) Genetically Mediated Organisms
c) Genetic Model Organisms

d) Genetically ModelOrganisms

is not responsible for ozone depletion.
a) Chlorofluorocarbons
b) Lead
¢) Fluorine
d) Chlorine
LB’ AT BT TTEITY,
a) BpedregRinturs
b) 2w
Cc) TROT
d) gredT
___ zone,isthe deep water zone containing only heterotrophs.
a) Profoundal b) Littoral
¢) Sub littoral zone ,. d) None of the above
O3 VOB FeTO BLTREUR T NTRY BT BFHOT DO BOCDENG ?
a) Tpsem b) s@eees
c) B OedRpe” Food ~d) Bed3 cInPEe VY,

SPACE FOR ROUGH WORK
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43. The space between the soil particles and soil organisms is called
a) Pore space
b) Pore size
c) Particles
d) None of the above

0L FEANEO T2 abs:gas RN SBRIS %@d@t 2J0T3 BZ0ONIBE 9
a) Copm @on

b) Sogm g

c) seansb

d) B0edT cIRPTP B

44. The instrument used to measure relative humidity is
a) Hygrometer
b) Hydrometer
c) Barometer
d) Thermometer
;aaﬁei i) ra’cﬁ:ﬁg{ 2803000 WERIR FDI
a) BT eess’
b) B@EReT®
C) 2WRTAEDOCEIT
d) FReer 0T

45. Black soils are black in color owing to a high content of

a) Humus ; b) Sodium
c) Potassium d) Copper
ﬁ'@dss&g@ﬁ% SN B3 LIOSNS ﬁz:g’g@omﬁ %@’Lw%ﬁgd)gd
a) BRTA’ b) Ree®0
C) TPEIDAOIO ‘ d) =)

SPACE FOR ROUGH WORK
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46. Which one of the following does not produce SO, in indoor environment ?
a) Fossil wood
b) Fire proofing using asbestos
¢) Cooking, smoking, vacuuming
d) Kerosene space heaters

B3 BSNSINSED CIRJYT) 20T 2PDONED TWORTHY SO, IR0, YVOKD BRBR D), ?
a) BSadoeE 3
b) BeRT>209 23030, YUBORRIH T
C) ST, FATOTN R JeoF 630
. d) ?oeaﬂae__a% o) &e83T°

47. The Stockholm Conference of United Nations was held in the year

a) 1968 b) 1969
c) 1971 d) 1972
Q03T Sem®, BReE* B oeas RERETITO, 0BT BRFTE SRR ?
a) 1968 b) 1969
c) 1971 d) 1972

48. Which gas is mainly responsible for the Green House effect ?

a) Ozone _ b) Oxygen
c) CO, / d) CO
- DRV TOFTE, 0NN CINFT FOTLHIONCS 9
a) Wiyee® b) esa)wss
C) WY & &8 = - d) Bwrs Seced @

SPACE FOR ROUGH WORK







RV e 19- SN - 712

53. The thickness of the ozone layer is measured using unit of

a) Newton b) Joule

c) Dobson d) Decibel

2WBIRES” TBHOD cﬁ%ﬁdgi o3 maaa@{ WIRBROR P0IBT 2
a) QW " b) e

C) @S d) @dawesr

54. Which one of the following is a non persistent pesticide ?

95.

56.

a) Chlordane b) Dieldrin
c) Malathion d) Aldrin
8 BINTNFE) 0390 2,070 DTOBTHOT 3633055 9

a) 3o’ b) RO
C) BROG IR d) e;s%af
Chipko Movement was held in

a) Uttar Pradesh b) Assam
c) Karnataka d) Kerala -
“ZS"Q%Q" BOIY Q) IR

a) 8o ®TeS b) &m0
C) BooFE3d d) 3eoy

London Smog occurred in the year

a) 1952 b) 1986
c) 1962 | d) 1972
VOB’ BT BRT :00%I O3RN BOPIIT 9

a) 1952 b) 1986
c) 1962 , d) 1972

SPACE FOR ROUGH WORK




SN - 712 20- U R

57. Chlorine added to water acts as a

58.

59.

a) Disinfectant
b) Absorbent
c) Coagulant

" d) None of the above

Qe 80" &%), ReO/TION DJINZT 7
a) Rreo’d TS

b) &eodad)s

C) BN

d) 0O oINPT ),

The United Nations Conference on human environment was organized at
a) Rio de Janiero b) Paris
c) Stockholm d) New Delhi
BRII TORTTS BoOBY 030 LT oaa%ﬁeé A3 29, 5030e3ePNG 7
a) dcdne & u%dfae b) ,0%°
C) RRE SRR ' d) 33329
gives an empirical value to water quality and is a parameter for the
organic matter present in water.
a) BOD b) COD
c) DO d) Hardness :

De0R RoeamoLsE, 53,030 eNS WV TI) T 0% ReORE). ATOIT BTG B 2000
OS] :

a) BOD b) COD

c) DO d) nesss

SPACE FOR ROUGH WORK
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60. Ozone is a
a) Primary pollutant
c¢) Hydrocarbon
WBIRES” BITR) :
a) TPT BROFFTIND
C) BR/FWFD

61. High volume air sampler is used to monitor

a) CO
c) SPM

SN - 712

b) Secondary pollutant
d) PAN

b) RRER08 RROF T
d) PAN

b) CO,
d) Hydrocarbon

=0t 208 RPTEe GRS B VOB ARTONYR) 1HEoRSE?

a) PWFI® BT, B
C) FF.&.0.

b) Bwrs” & <8 &
d) SRR FwWF

62. Which of the following is an endemic species found in Western Ghats ?

a) Marsh Mongoose
c) Brown Palmcivet

b) Indian Rhinoceros
d) Flying Squirrel

YRINTS_ CINFYTH TR PNGS FomoeIde3 Z;c;@wi) 2RS0T ?

a) BIRTF TRONRT®
C) BoT CRISAI Y

b) ¢3&ecdd DTN

d) 00 wen

63. The mean temperature of the earth is approximately

a) 10°C
c) 20°C
23REC3D FTHRO SDTTIRE) FO IR
a) 10°C
c) 20°C

b) 15°C

d) 29°C

b) 15°C

d) 29°C

SPACE FOR ROUGH WORK
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64. Which of the following is a green house gas ?

a) Nitrogen
c) Oxygen
QNG CIRTT0 BTN BRATNGS ?
a) AOTEST
C) &SKTT

65. Which of the following is not a fossil fuel ?
~ a) Coal
c) Petrol
FINTZNES), IR TLI0VE BOFIHY, ?
a) 39T
c) Jedpe”

66. The coldest region of the atmosphere is
a) Troposphere
¢) Mesosphere
TOTOTWTEIT €98 e T3S
a) @R FEpeyeIdT’
c) aoﬁfae%__,odac‘

67. Environmental planning organizaﬁon is
a) ICAR

c) NCO
TORT 03RRI RO
a) ICAR
c) NCO

b) Methane
d) Sulphur dioxide

b) Qoegest
d) VP @ 8 &

b) Stratosphere
d) Thermosphere

b) oo3nRoES
d) qﬁmeraia'::\:f

b) NEERI
d) NPO

b) NEERI
d) NPO

SPACE FOR ROUGH WORK
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68. The Silent Valley is a
a) Place in Himachal Pradesh
b) Densely forested valley in Palghat district of North Kerala
c) Valley in Garhwali Himalayan region
d) Valley in Shivalik range
"R Soes 39" aa’;._}t@cﬁo
a) LuRRBe BBeBE B0E0ma B
b) «v35 gecvs OO WSoDH cﬁas&pd TR FedeS
C) NOTD &O0IITE BRSBTS Beded
d) 8zds Q0D FedeS

69. Richter scale is used to measure

a) Velocity of light b) Intensity of sound
¢) Amplitude of seismic waves d) Wind velocity
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70. Acommon disinfectant used in village wells is
a) Ozone gas
b) Potassium permanganate
c) lodine and bromine
d) Free chlorine
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